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1) Find the exact value of the following:
T
a) sin(—22.5°) b) cos (E
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2) Find sin(20),cos(20), tan(20);sin (g) ,COS (g) ,tan (g) , given
that :
a) sin(@) = —0.6,270,<0 < 360

b) tan(0)-£\2',180 <0270
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c) cos(0) = —3 ,90 < 6 < 180

3) Prove the following identities:

4

a) 4cos*0 + cos(20) = 5 — 6sin’*0
b) % (cotB — tan@) = cot(20)

) 4sinfBcosO(1 — 2sin?0) = sin(40)
1 —cos(20)
2

sin’0 +.cos%0

sin28L cos20(\ ssec(20)

(sin@ + cos0)?

sin(20)

cot’0 — 1
csco
sin(20)

1+ cos(20)

= sin*0
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=csc(20) + 1
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9) = cos (20)
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= tan@
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Solutions:

—0.38268

0.96593

4
) tan(20) = ?

o 0 o
sin (E) = 0.851 ,cos (§> = —0.526,tan (E) = —1.61787

sin(20) = ,cos(20) = - ,tan(20) = V3
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